M H &

ERE304E3H 31 A HE
— (Bifir: [)
HiEx R A T e e 0
(BN )
Hé FrAE ERE&LLT 121,879
b TS 126,106,633
ZEHUFIRTAS EEEELLT 122,949,227
BT LSS EERE&LLT 1,757,227
SHERBITERBEXE |ERESLLT 1,400,179
HERETE PHE LERIT RIS EEEESLT 1,405,076
FIL & —IRMAEEA BEEESEM 33,652,539
AHEFIEyrEESM SERL 294 B Bh Rk Ar (403 A RYEZE) 2,083,459
BEESERATELREN [ER29FEAE (EASEH 31,569,080
BT o AtEHEHEA BARBRESR 3,045,281
EHM 253 BEESIC N EREES ORI 2 E 2,989,219
A E#E - 51 Fth EASHHCVERTFDO M+ opE 56,062
e [EpE TR EEEATERESE 2,174,065
HiEAE A — BN BESESEN | EEETEL M 1,066,238
MEE FEIfts FEIZ 8 #HL 360,652
REhE E S 167,932,363
(BEEE)
REEE
IRIREA S| LAERE LEAE 48,912,701
ZFEHEAUFJRTAE A% B EZORNIEETHD 38,311,342
ZERURUFJSRTASE EASHOBEIEETHD 10,601,359
EifRAE SR EE ZZERAUFIRITASE NI B EEORIEETHD 46,681,588
ERE BT A S SHI B | =R A UFJR{TALS A ERFREORNEETHD 4,150,000
B - EE S W ZEHRUFJRITANS AT B EEOHEILEETHD 7,100,000
EESHESHEERESTEIEE | =R AUFIRITARIE nE BHEEOE L EETHD 0
RIS T EE =ERAUFRTASE A ERFEOHEETHS 4,757,906
etk EE &R EE ZEWERTUFJERITAE A BREEOEIBEETHD 15,735,000
ks un SARL BLB(ZZ>-A)Mih, #EHES | A%k AMRERETHS 374,668,835
T Ot EEERE
{ii da AfEFEEEA A AREARE R 4,053,758
Eiaeiih Atk BB ETHD 1,308,724
e ai) EASFHOLERIER O BICi3 D E 2,745,034
p & —EEEEN BEEESEE EASEHT SISO AT 2 E 1,724,730
BN AiEtEEA BEREHINER  |EASFHOLERESO AT M E 159,200
III=T SEREEEEY T M EANSFHOLE E O Aict T 5 E 1,179,037
TR aw— EASFHCHEREB O AT 2/ E 1,890,967
BEEEESH 511,013,722
EREAE 678,946,085
(FREh &)
FihE A R E S k294 EEBD AR iR A fih 18,309,478
R EH FEHEE REHENM RO EEREETH B Bt 6,420,964
A& Tz B il 23,658,608
FRHEE RAERE TR BB (A2 B A EZE) 19,738,948
HERBEEMENBHE S BB AR L S MR (B A SE 3,919,660
R4 =B EBEEEMLEZ & 596,732
B4 =81 TRIOEESE - ASe - BREEEHD 27,573,300
HE5 %4 B - IR 6,149,486
8 BT aho A %E%fl:ﬁ?“é#%ﬂlﬁﬁ@ﬁﬁﬁﬁi&%ﬁr
OHH U HIREE (A B RFEE) 4,545,387
B -Brtickdabo T B - ERE IS AT Y O E A
OHbEHRREE (I AEED 1,604,099
TE RS 82,708,568
(EEEM
REBRREE S| H4& e BT ALD g I ARMEOXAITH R b D 1,957,500
BB S IBWAE5 M4 BB -UEFE 46,955,201
=B e a0 T8 - UEFEI T BB S O I b D 36,745,342
(/A3% B RISEE)
== Bt he e 1) B -EFEITH T DRSO T A =h D 10,209,859
(AEE)
BEEBHEEE 48,912,701
BiEGE 131,621,269
TE RS BE 547,324,816




